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Nombre:

Raices Cuadradas - Niimeros Cuadrados

Seleccién Miiltiple
Identifica la respuesta que responde o completa la pregunta.

B

&

1. ;Cudl de estos nimeros es un nimero cuadrado?
Which of these numbers is a square number?

a. 14 (b. 49) c. 98 d)i56

% 7=49
2. ;Cudl de estos nimeros es un cuadrado perfecto?
Which of these numbers is a perfect square?

@E L e & c. 15 d. 20
5

3. ;De que tamafio es el lado de un cuadrado con un area de 49 cm?? ' 99 } F
What is the side length of a square with an area 49 cm?? )

a. 24.5cm b. 6 cm C. 28 cm

4. (El nimero 54 esta entre cuales dos niimeros cuadrados consecutivos?
Which 2 consecutive square numbers is 54 between? CONSECUTIVE means
“they follow each other” I 4 9 1 25 36 Y9 & Y

a. 53y 54 b. 28y 32 @49y64 d. 12y 16

5. Cuatro cuadrados tienen las siguientes areas: 127 cm?, 116 cm?, 131 cm?,
y 121 cm2 ;Cual de estas es un cuadrado perfecto?

The areas of 4 squares are given: 127 cm?, 116 cm?, 131 cm?, and 121 cm?. [ 1)
Which area is a perfect square? /2]

 ——

A e b.A=116cm? c A=131cm?  d. 4=127 cm? t

6. Soy un numero cuadrado. La suma de mis digitos es 13. ;Cual de los
nimeros siguientes soy: 94; 81, 58, 6 49?

I am a square number. The sum of my digits is 13. Which of the followin% 9 q‘?ﬁ
numbers might I be: 94, 81, 58 or 49? ’ =p §H)=

Sl e Lo i
a. 81 b. 58 d. 94
7. Encuentra el cuadrado de 5. 2,
Find the square of 5. 5 = See e

a. 10 b. 20 @ d. 30
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a 8. Encuentra el cuadrado de 11. =
Find the square of 11. e H J = e

d. 121

Q_ 9. (Cudl es la raiz cuadrada de 647 \}'a_ i L6>< &)= &

a. 16 b. 32 d. 32

Q_ 10. ;Cudl cuadrado tiene el 4rea mis grande?

Which square has the greatest area?
Sguare &
ot b_____xQ = s B—- =
Cevdanolo = B2 29 —
>‘""” Meeo. “+o72f (Zx%) 4= = H—)
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a. 242 b. 22 c 4
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a. Cuadrado B b. CuadradoA c. Cuadrado D d. CuadradoC -Totzf
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A 11. READ CAREFULLY! ;Cuél es el ntimero cuya raiz cuadrada es 36?
Find the number whose square root is 36.

@ b. 144 c. 24 d 6
\ P = B6 entoncen ? — /) 29

@

i lsse = 5(0//
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12. Sin utilizar una regla, determina la linea mas corta.
Without measuring, determine which line segment is shortest.
HINT: MAKE TRIANGLES... and compare!

....... ';l

Line-B.J&........ /

2

Ling D \

J

a. LineaA c. LineaC d. LineaD

c

B

13. El drea A de un cuadrado es dada. ;Cudl lado es un niimero entero?
The area A of a square is given. Which side length is a whole number?

B e “‘-\\
i) A=57 m? ii) A=68m? {ii) A = 64 m? iv) A =77 m?
a i b. ii | &4 [8 4. i
3
14. ;Cual de las siguientes relaciones es verdadera?
Which of the following relationships is true? , 97 {4
. - i T8 12\

a. Area of square = sum of all sides @ Length = { Area

< Area =  length e Areaoftriangle=bxh Y49 ~ %

15. Cuando aproximamos la raiz cuadrada de 24, sabemos que:
When we approximate the square root of 24, we know that:

3 \} &M

a. Itssquare root is less than 4
@) Its square root is higher than 4.5 /// \
c. Its squareroot is higher than 5 25
d. Its square root is smaller than 4.5 \m; %—
( Z| w49
s
4.5

e Y €5 mcﬁj cercaro «
25
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Respuesta Breve
Es importante que ensefies todo tu trabajo.

15. Encuentra el 4rea de un cuadrado con un lado que mide 14 unidades.
Find the area of a square with side length 14 units. s
o —ep
| | = ; > Y 4

16. Escribe los niimeros cuadrados perfectos entre 67 y 141.

Write the whole numbers between 67 and 141 that are perfect square
144
P 4 a b 25 3p ua eqo@@@/

(1 each) L 9
/f\%%Dues“T@ s lo0) Iz
17. Aproxima + 77 respondiendo las siguientes preguntas: (Aproximate v 77
answering the following questions: %) ﬁ*\@
-~
6
I'e What s the lowest perfect square limit? é‘-{ r‘\, ! V&,
'D | » Whatis the upper perfect square limit? _ & g 8.5
| © Whatis the square root of the lowest perfect square?
* Whatis the square root of the upper perfect square? ___“]
! Therefore, the square root of 77 must be between __ &> and 5 g
Z * Because 77 is closer to 8{ than to__G4Y__, the square root of 77 can be
approximated as being_ %, £~ 5. & ~ 5
2
18. Find the area of EACH square.
Then write the side length of EACH square. '
Explain your work. g Skek -
Avecel - S8 1 L 2y,
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